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a) 6 -4=_2_ h) 8 -2=_6_
16 - 4 = 12 18 -2 =_16
b) 3+5=8 i) 7+1=8
13 +5=_18 17 +1 = _18
Q) 9 -6=_3 ) 5-4=_1_
19-6=_13 15-4-=_11_
d) 3 +4=_7_ k) 6 +3=_9
13+4 =17 16 + 3 =_19
e 8 - = 2 l) 8-2:6
18 -6 = 12 18 -2 =16
f) 4 +5=_09 m)b+1=_6
14 +5 =19 15 +1 =16
g 7-5=_2_ n 7 -4=_3_
17 -5 = 12 17 - 4 = 13

EE+516+2: 18
9
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0) 2 +6=_8 ry 4 +4=_8
12 +6 = 18 14 + 4 = 18
p) 9 -3:=_6 s) 4 -2=_2_
19 - 3=_16 14 -2 = 12
qQ 5+3=_8_ t) 1 +8=_9
15 +3 = 18 11 +8 =_19
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De oplossing en zeer veel andere werkbladen om gratis te downloaden:
www.aduis.nl. Neemt u een kijkje.
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